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QUESTION 1

Which three of the following Data Services Conform to the Service naming guidelines?
A. Customer

B. Finance

C. Create Expense Request Service

D. AuthorizedCustomer

E. InvokeFundsPaymentBusinessProcess

Correct Answer: CDE

QUESTION 2

While monitoring the effectiveness of your existing SOA governance model you notice that employees are not acting,
interacting, and collaborating in the best Interest of your SOA initiative. What best approach should you take to address
your challenges?

A. Hold meetings for interested employees where they are encouraged to read and understand the standards and
policies to which they must adhere

B. Project teams are given ultimatums to adhere to standards and policies or pay the consequences

C. Have visible and vocal support from a sponsor who re-iterates the importance of the SOA initiative and the role that
employees will play

D. Project teams are given both ultimatums and inducements to adhere to standards and policies

E. Define a SOA Center of Excellence that hires external consultants to develop Services that adhere to standards and
policies

F. Give inducements to project teams to adhere to standards and policies

Correct Answer: D

QUESTION 3

It has come to your notice that there is little or no reuse of SOA Services in production. After some
investigation, you have been made aware that project development teams are struggling with Service
interoperability challenges.

What course of action do you take to address these challenges?

A. A single registry is employed to ensure Services are consistently published.
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B. A single service engineering team is employed to build all Services which ensure implementation consistency.
C. A single technology (for example, Java) is employed to build all Services which ensure standards consistency.

D. Design-time governance quality points are employed to ensure that Services following agreed enterprise standards
and guidelines.

E. A single repository is employed to ensure Services are consistently discoverable.

Correct Answer: A

QUESTION 4
Which three statements differentiate SOA requirements from project requirements?

A. SOA requirements are not owned by any single application, consist of their own lifecycle, and are managed
independently.

B. SOA requirements are developed iteratively with the business and mapped onto the enterprise business function
model.

C. SOA requirements have a classification that reflects the project that implemented them.
D. SOA requirements are managed at the enterprise level.
E. SOA requirements are concerned with the Services that deliver integration capabilities.
F. SOA requirements are refined into project requirements.

Correct Answer. ABC

QUESTION 5
Which two statements are valid SOA infrastructure principles?
A. SOA infrastructure must be designed to enable point-to-point integration.

B. SOA Infrastructure must support all Services with standards-based interfaces, regardless of their choice of
implementation technology.

C. SOA Infrastructure must be based on open standards. This supports a best-of-breed approach and prevents vendor
lock in.

D. Multiple versions of a SOA Service must not be run concurrently.

Correct Answer: BC
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